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QUESTION 1

Generally, a central NE where ECC communication load is heavy and congestion is the most likely to occur is set as the
gateway NE.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

What is the value of an AU-FTR pointer without frequency or phase difference?
A.0

B. 521

C. 522

D. 782

Correct Answer: C

QUESTION 3

Generally, a clock tracing chain consists of a maximum of 20 NEs. This rule does not apply to a clock subnet where the
SSM protocol is enabled.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 4

RSVP-TE is the RSVP extended in traffic engineering sense. What are the major functions of RSVP TE?
A. LSP setup and deletion

B. LSP attribute modification

C. LSP rerouting

D. LSP optimization

E. LSP bandwidth Management
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Correct Answer: ABCD

QUESTION 5

What are the impacts of discrete services?

A. Trail configuration fails and the NMS prompts timeslot conflict.

B. The trails resources queried on the NMS are incomplete.

C. Itis impossible to perform trail-based management, including fault diagnosis and maintenance.
D. The timeslot allocation diagram displayed on the NMS is incorrect.

Correct Answer:. ABCD
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